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Ve AL RN

EFRAS R RS
20214 10 B
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.047 0.006 &
LA i 1.512 0.002 - 0.812 0.046 =
/L4, (HCI) 4,545 0.068 - 0.338 0.235 =
mIbE (HF) 0.306 0.010 - 0.067 0.033 s
— &b (SO2) 15.147 0.006 - 4.484 2.235 =
—4&bi% (CO) 7.578 0.000 - 0.464 0.044 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.513 - 6.209 1.581 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.004 - 0.008 0.006 &
LA 0.756 0.016 - 0.132 0.046 =
Z/LE (HCI) 0.756 0.167 - 0.298 0.236 s
wAbE (HF) 0.072 0.024 - 0.047 0.033 =
— &b (SO2) 3.789 1.942 - 2.580 2.234 =
—&Ei% (CO) 3.789 0.007 - 0.104 0.044 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.084 - 3.237 1.578 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 107 <5.702 x 1010 =




Ve AL RN

EFRAS R RS
20214 10 B
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.001 - 0.084 0.002 &
LA i 1.512 0.003 - 0.730 0.093 =
/L4, (HCI) 4,545 0.001 - 0.236 0.135 =
mIbE (HF) 0.306 0.000 - 0.061 0.030 s
— &b (SO2) 15.147 0.010 - 2.911 1.919 =
—4& kbR (CO) 7.578 0.000 - 0.191 0.075 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.592 - 5.867 1.464 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.001 - 0.008 0.002 &
LA 0.756 0.013-0.228 0.092 =
Z/LE (HCI) 0.756 0.076 - 0.217 0.135 s
wAbE (HF) 0.072 0.019 - 0.042 0.030 s
— &b (SO2) 3.789 1.224 - 2.160 1.909 =
—&Ei% (CO) 3.789 0.003 - 0.149 0.073 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.018 - 2.651 1.470 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.006 &
IR R g ) 7.575 x 10°° <6.599 x 1020 &
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EFRAS R RS
20214 10 B
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.445 0.006 &
LA i 1.512 0.006 - 0.618 0.100 =
/L4, (HCI) 4,545 0.027 - 0.190 0.121 =
mIbE (HF) 0.306 0.009 - 0.057 0.032 s
— &b (SO2) 15.147 0.001 - 4.864 1.690 =
—4& kbR (CO) 7.578 0.007 - 0.117 0.054 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.668 - 5.251 1.310 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.004 - 0.024 0.006 &
LA 0.756 0.060 - 0.183 0.100 =
Z/LE (HCI) 0.756 0.084 - 0.151 0.121 s
wAbE (HF) 0.072 0.022 - 0.037 0.032 s
— &b (SO2) 3.789 1.132 - 1.958 1.692 =
—&Ei% (CO) 3.789 0.040 - 0.071 0.054 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.935 - 2.291 1.309 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0002 =
S SE VAR 0.003789 <0.0019 =
R A 0.0378 <0.0042 &
IR R g ) 7.575 x 10°° <4.665 x 10720 &
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